Multiplication Word Problems

There are 5 bags with 3 bananas in
each bag. How many bananas in all?

'i
6 kittens each had 2 balls of wool to (3’
play with. How many balls of wool?

A tree at the park has 7 branches. 7
Each branch has 4 birds. How many 15
birds in the tree? .

There are 9 rows of pencils with 3
pencils in each row. How many pencils?
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My bookshelf has 8 rows of books 5
with 7 books in each row. How many gﬂg’

books in all?

A tray of cupcakes has 6 rows with &2

3 cupcakes in each row. How many \\w/
cupcakes are on the tray?

The cars in the parking lot are in5 =
rows and 6 columns. How many cars in
the parking lot?

The apples in a box are in 4 rows
and 3 columns. How many apples are
in the box?
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